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Question 1

: " k2 +kn . < : 3 : Vot
The expression Z :3 " is a Riemann sum for a function on an interval. Decide which integral
k=1
generates this Riemann sum

o A [y SHtda © B [FEfd

oL iE) 01 =tz g o D) f" z21+:c d

o E) [} £ty o P [y(a®+1)da

® O0) [j(z*+az)dz o H) f(z*+2)dz
Question 2

Only write your final answer to the question in the box below.

Compute/_03(1+\/9—x2)dx= l W2t %T

Question 3

16z*
Determine —H incasey = (etv/)dt

Choose from the alternatlves below

O A) 42’ 4o? O B) 4zie 4zt

® OC) 2565%16%" O D) 256g7¢6%"
O E) 64.’173 4z 'e) F) 64.’1}3 16z4
O G) 25627¢%” O H) 256z°¢%

Question 4
Only write your final answer to the question in the box below.

3
Determine ﬁm\/1+x2)dz= 'Ij Q“' XZ) 2 4 C

or ewﬁy\ml’ é(l+x7‘)\/l+x’~ + C
(_"époin% \f} in4&8Pa¥?or\ constany C hmi%§2>
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Question 5

e
4p Determine/ (In(z))3dz =
1

We deberimine Sy dx app_ly‘m_f_}f patal 'er%Gd‘wn-

J (Unix \)zdx = j{nfmdx =X an_kx) - /x4 (n_zm_ =

A
B X&\?Qﬂ_.-— fx-z&]m.;% dx = XQLX)‘Zf(n__\X)_dx_-

l/LSing L lhhedx = X - j)(d {hoo = X dneo) —f_?('.;'_ dx=

= X{ngy= J1dx = X dhooy ~ X we olbain

; T _
ftﬂhw)zc\_x = X4n o)~ 2ax{hxy + 2X . ﬁ@a\ﬂc)_@

| £, = 5 €
we bave j L{Y\.w)zdx = l._x (n 5 = 2% T x) +2x1<=_1 =

—

2 2
= ille C\_L€>-2€ (/Mf») +_2€)—('Cf\u)-z-tfn(_lhtz_;\) =

(¢ —2¢+2:)—(0-0+2) = ¢-2
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Question 6
Find the Taylor polynomial of order 3 generated by f(z) = /(1 —z)ata =10
ffrsi_r(y e wmpute e dedivibives ol Joy ak o
.
foom ik = (=)" for=
l il -3 =5/ / |
]E&XFzQ-X) et BN e Yoy="3
3 L
I -l . _l iy 4 h |_
R =c g T U-)(B a8l = U‘X\B/Z ‘FLO).: i 4
5
i ik g T ~3/g o7 g
wf gy T Sy =0 -“I=m t (©)= 3
}e,condl/v we  detelmine g K, pelyrimial o0 onde 3
? 'L /LO) //Q)) > Vi
o= o) A T X+ Ty
] 2
~-h =7 5 -3y 3
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Question 7

Only write your final answer to the question in the box below.

Solve the initial value problem
dy _
9 =

{y(7r

Y= ‘_XCO’.\Q() - X

S

+zsinx
0

Question 8

Find the polar form for Z incase z = v3+iandw =1+ 31
Choose from the alternatives below.

O A 25 o B) %e_%i
@FoHC)R2est O D) led
O E) 4e & o F) e
® G e 5! O H) 4es?
Question 9

Find all solutions in C of the equation z¢ —4 =0

Z.z\/z—)z_z:—!/; 23=’£&/_Z and Z,L‘:"{‘/;

2
4
Altecnatie : ZZ"‘ 4=0& = Liles 2= \é\-‘&
i 5 5 l, 2_“: ! ~
7=Vt =\2 Z_Z=\/z:t" ‘/;¢,

4 -2 L 3w =
%:ﬁelz—n:~/§ qnckz:\/:\e‘* = —V2 4

fl

4 2
Zl"‘i =HAOIIE <= L.ZZ—Z)(ZZ+2)=O® AL o )
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Question 10

Which function is a particular solutionto 3’ +4' = z

O Ay=z e) B)y=%m2

0 Oy=z—e= 0 D)y=jat-e=
O By=1-e%+2 @ Fy=1l-z+1i?
0 O y=l+s-ia? 0 Hy=z-ia

Question 11

Determine the unique solution to the problem
y' + 5y + 4y = 8sinz + 2cos

y(0) =0

y'(0)=0

The eqpakion r*as5r+4 = (F+4) () =0 gives s

~4

FoediBimnic ten ak vepien X Nl il e mda Gl

)fp&o_p x) = A Ainx) + D w0
Y ek 0 = Aoty = Painx)  and haitute in
Yl 6 = AN =Bt inhomugneans dih- ¢

-A Aink) ~PBcorxy +5 (Am_m-f; AM_LM)-FL{ (_A’MMX)%EC@#\):X&DN*'
24 x)

(—A—SB+L|A§AM\X3 e (‘B +5A 4B )y = Yainry +2 wy x)
(2A-B2)ainky + (A +2B) cos (s ¥ alnxyr 2o oy

Sve ) 3A-B5B= § . g -5 P=2y 4:_>__34M%:39—%A:1
5A+3%=2 SA +6 B= 1o and 9-15D =24
MosB ==
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Geneqel  dohwtion

Yy = 74\0#43 o 0 LY - /N

Part :

—L4X —X i
o A + G 4+ Ainx) — WAXK)
—4

with
X —X ,
— (g € 1+ o X)) + An(x)
y@):oﬁ Cyp & € + 6 — |\
7’(0\-.0 > =—4C, ~Cy *+\| 40

Solve | circ, = | gas NCBleNa0 ri s oSl
“AC| —Cy =~ O4e=) = Cp-=]|

Hniowu &6)\'\/\,~}‘Ior\ 4 7 X) = fﬁx + A0 x) — b (X)

Extra writing space

Clearly refer to this section if you use it.
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